Worksheet for the spreadsheet “competitive industry”

All of the questions below should be answered by changing the numbers in the seven shaded cells in the spreadsheet.  If you choose an inappropriate number, a warning message will appear on the spreadsheet.  Since these warnings are hidden when not required, do not type anything in any other cells, even if they appear empty!  If you pass the cursor over the red triangle, a comment will appear, with information about what is in that cell.

Choose values for output level where average variable cost is at a minimum (cell B4) and the level of AVC at that point (cell B5).  Now choose a higher output level where average total cost is at a minimum (cell B7), and the level of ATC at that point (cell B8).

How does the flat part of the industry supply curve in the right-hand panel of the diagram relate to the numbers you have just typed in? ___________  

Choose the number of firms in the industry (cell B10).  Now increase or decrease it by 50%.  What happens to the industry supply curve? ____________________

Now choose a vertical intercept (cell C12) and slope (cell C13 – make sure it’s negative) for the industry demand curve.

How large are the profits each firm is making (cell C23)? ____________

How large would these profits be in long-run equilibrium? _____________

Change the number of firms until each of them is earning this level of profits.  How many firms are there? _________

What is the long-run equilibrium price? _________________

How does it relate to the firms’ costs? _______________

How much does each of the firms produce (in cell C19)? _______________

What happens as the number of firms increases? _____________

What is the largest number of firms that would actually produce any output (a message will come up giving the number of firms that are not producing, if the total number of firms exceeds this level)? ________

What is the price when you have this number of firms? _______________

How much does each of the firms produce? ______________

Go back to the long-run equilibrium number of firms.  Now choose a higher value of the demand curve intercept.

How does the price change (the short-run response)? __________________

What happens to the long-run equilibrium number of firms? _____________

What is the long-run equilibrium price? _______________

How much does each of the firms produce? ______________

Now make the demand curve steeper (choose a slope that is further from zero).

How does the price change (the short-run response)? __________________

What happens to the long-run equilibrium number of firms? _____________

What is the long-run equilibrium price? _______________

How much does each of the firms produce? ______________
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